Jr. Newton Talent Search Examination - 2011-12

Practice Paper - 1
STANDARD -V

Total Marks : 200

Time : 2 hrs.

Passage :

Section I : Language (20 Questions, 40 Marks)

Most people know what a giraffe
looks like. They’re tall, spotted animals from
the African Savanna. They’re famous for their
long necks that allow them to munch on
treetop leaves that other animals cannot
reach. With its 6-foot long legs and 6-foot
long neck a male giraffe can grow over 18
feet in height. That’s almost as tall as a two-
storey building! Even a baby giraffe has a long
neck and legs. In fact, the calfiis 6 feet tall at
birth and can stand within an hour.

We humans have seven bones, or
vertebrae, in our short little necks. So, how
many vertebrae do you think a giraffe has in
its neck? Maybe 20,0r 50 or 100?

In fact, a giraffe’s neck has exactly
the same number on bones in its neck as a
human! However, the giraffe’s vertebrae are
larger and much longer.

A giraffe’s heart is also long, with a
male’s heart being up to two feet. It takes a
powerful heart to move blood up the long
neck into the brain. The giraffe has special
valves in their arteries. These valves prevent
blood from rushing to the head when the
giraffe bends low to drink. And when it drinks
it takes a long drink, swallowing up to 10
gallons of water. The giraffe must spread its
long legs apart so its long neck can reach the
water. Since it can’t protect itself when in this
position it doesn’t drink very often. Instead,
it gets a lot of moisture from the plants it eats.
And speaking of plants, a giraffe’s favorite
food is the leaves of the thorny acacia tree.

The giraffe wraps its long 18-inch tongue
around the tree’s branches and strips off the
leaves. The long tongue’s roughness helps
protect it from the thorns.

uestions

Q.1.

Q.3.

Q.5.

Which is the natural home of giraffes?
0OO]6)

(2) African Savanna

(4)All correct

(1) Grasslands
(3) Jungles

What is the advantage of being so tall?

0[0O]6)

(1) It canspot any danger coming towards it
(2) It has a powerful heart

(3) It can easily drink water

(4) It can eat the treetop leaves which other
animals cannot

What similarity among humans and

giraffes is mentioned in the passage?
OI0O]6)

(1) It requires a lot of water like us

(2) It has an equally good heart

(3) Its neck has the same number of vertebrae

in the neck like us

(4) It gets moisture from plants.

And when it drinks it takes a long drink.
What part of speech is the underlined
word? 01000
(1) Verb (2) noun

(3) adverb (4) pronoun

Which phrase in the passage means to

remove completely? 0016
(1) to munch on (2)to wrap up
(3) to strip off (4)to prevent




Q.6.

Q.8.

Q.9.

Q. 10.

Q. 11.

Q. 12.

Q.13.

Q. 14.

Form the antonym of the word using a

prefix ‘frequent’. DR
1) Occasional 2) rare
3) infrequent 4) unfrequent

Find the word which has been correctly
spelt among the following - (DR @

1) deppresion 2) depresion

3) depression 4) depression

Find the odd man out — 006
1) pediatrician 2) dentist

3) optician 4) physician.

Which of these words has been wrongly

spelt? 00O©e)
1) acquarium 2) seperate
3) campaign 4) frequency.

How many four letter words can you form
using the letters in the squares only once.
Each word should have the central letter.
(no plurals please)

E|F|Y
A|T|S
OOR®@
QM| C
16 2)8
3)7 45

Complete the sentence using the future
continuous tense form of the verb given

in the bracket. 000

We -----mmmmeee to Kerala for the
summer vacation. (go)

1) went 2) will go

3) willbe going 4) are going.

State the kind of sentence — Don’t sit idly
without doing anything. DOB®W@
1) declarative 2) imperative

3) interrogative 4) exclamatory

There was a great hustle and bustle

among the guests DOB®W@
The underlined word is a/an

1) Noun 2) adverb

3) preposition 4) pronoun.

Rohan and Ramesh goes
1 2

Q. 15.

Q. 16.

Q.17.

Q. 18.

Q. 19.

Q. 20.

to school together every day.

3 4 OO0@

One of the parts of this sentence contains
a mistake. Identify that part.

1 2)2

3)3 4)4

We often go to the park to play in the
evenings. Which kind of adverb is the

underlined word? DR

1) Adverb of time 2) adverb of manner
3) adverb of frequency 4) adverb of degree.

What is the most appropriate meaning of

the proverb — DOB®W@
‘Make hay while the sun shines’

1) Grass can be dried better in sun.

2) One can make hay during summers.

3) Sunshine is necessary to make hay

4) One must make good use of opportunities.

Which of the following pairs of words are
homophones (words having the some
sound but different meaning). (D23 @
1) dear — fear 2) wait — weight
3) nose — hose 4) shed — shade.

While writing a letter to your mother what
will be the most appropriate ending?

00O6)

1) yours truly 2) yours lovely
3) yours affectionately 4) your faithfully.

Which word will complete the given
pattern (limb, chimb); (hare, share) (eat,

?) ©O0®@
1) sheat 2) eats
3) beat 4) treat.

D US| T ER VY
O/TIN/JAIXAB L
Y U B|B/E|/N|C|H
B/E L/LI Y MN|P
QSIUEW Z|P D

How many hidden words can you find in
these boxes. These are there in a

classroom? 00©6)
1)6 2)4
3)5 4)7




Q.2

Q.3

Q.10

1eT 1 - TSI (20 99T, 40 301)

Tt TEtamen A et faga wmm

qui wT? DOB®®

TG - === mm e mmeeoees

1) &gt s\ 2) Ips T

3) 3@ &l 4) 9k 7S

L 3™ S Tehl 2. A

T s MR Te? @R@

1) goifer™ 2) TocHfeR™

3) STMEM fog 4) yfrs

T BTN ShedU @l USTel hidl?

1) w8 2) &= DD

3) Te 4) Fed

AR SHSG! HIUHTGT R FEUTdTd ?
DOB®®

1) @R 2) S

3) A 4) HrEd

WU TAHHARIBIAS ST T ?
DOB®®

1) T ot e 2) ¥ ot e

3) T fomt e B, 4) T o FEie

‘WU’ A1 ITeRTT FHMIL I1e8 hIvT?

1) oied )71 D@

3) 75 4) TR

G’ O yreRTen fores Sreiien 9Te] ShivT?

1) e 2) TR D@

3) TS 4) F3R

TSI Ueht U Seehd Bid. A1 Ao

ATl G fehdt? DOB@

1) @ 2) ’H

3) @ 4) IR

U TR Fieh qeht e 3R ?
OO0

1) <] 2) e

3) Yeu 4) e

-0t 7 Aot ------ 2 DOB@

1) Herh 2) wEH

3) RmE 4) &

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

‘HITTHUR’ IV el SIUUHTE 3782
0]0O]0)

1)aEa e ) ¥. . 3

3) 9. q. qidl 4)fa . Rrae

TSl ShIhUTIAT STRHT hHIMA? A1 TgUid

HiehUT TEUTS! 1 ? 010016

1) e 2) $%

3) & 4) e

‘ST AT 391 318’ AT AT ShiUTd HeATH

3TH IR ? DO0@

1) 9Rd 2) Hi=n

3) 3w 4) =T

TS ATUTETSATOE AT 76T 81

e vt IR wEE? (DRG@)

1) FEsT 2R 2) KRR a9

3) 2t s 4)T8R T o

HeTew ieitean uere 16 #E? (DR)G)@)

IDRCICIE 2) STEEE

3) e 4) FHA

Tate T QEERR BUE? - (DRR)@

1) 9RERA 2) wEist

3) GEIfeIo 4) THEARh

ST W AaauaraEt sawed w1

foreRera? DOBR@

1) Heht R) TSR

3) said 4) 39

TNHY IV e Tta 3|a? DB @)

1) wTer 2) f&&-1ca

3) TH-TA 4) M-I

ITBSTATAS AT GEha gD, ATdIS

ferantersioroT whivTg ? D2BE

1) dresom 2) di

3) Gk 4) B9

AT AR |- -———- AT vt

Tere1? 0]0]O]0)

1) Ha TR R) Hd FHTR

3) Had THEH 4) G e




Q.1

Q.1

Q.2

Q.2

Q.3

Q4

Q4

Q.5

Section II : Maths (30 Questions, 60 Marks)

9119] 11 : 3IfS1d (30 U, 60 II01)

Which is the smallest even number ob-

tained by using the digits 1,0, 7,9, 2
O]0OO0)

1,0,7,9,2 3 Hd 3ich aUEA GER 20T

Taia @e T G& @ikt 2 (DRG)@)

1) 10279 2) 12790

3) 10792 4)01792

Population of Thalakwadi was 45276 in
the beginning of year 1990. Population
of Rampur was 90828 more than
Thalakwadi in the same year. What was
the population of both cities in all in the

year 1990, DOBR@

1990 5 SShATEEN HIRTEA 45,276
gidt. g gul ungTEl SlRETA
SHhATSUET 90, 828 A WA Bl T <

Tl gt TR UhUT BIeREEAT fehell Bl ?
0000

1)1,36,104 2)2,38,094

3)1,81,380 4)1,36,401

Cost of 14 plates is Rs. 1414. find the

price of such 100 plates. 00O©]6)

1)Rs.1100 2)Rs.10100

3) Rs.141400 4)Rs.11010

SR 14 dEeedEt f&Had €.1414 3@®, ®

I 100 A= fFHHd FE S ?
00O
1) %.1100 2) %.10100

3) %.141400 4) %.11010

How will you write the number 24 in Ro-

man numbers ? DOOB®
1)24 2)11Iv

3) XXIV 4) XXVI

24 & dEm W 3ickmed HI forgres ?
1) 24 2)IvVaoO®@
3) XX1V 4) XXVI

Which of the following is the multiplica-
tive inverse of 4 ? DOOB®

Q.5

Q.6
Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

Q.9

Q.10

TcheUeh! 4 = TUTTERR ST&d HEAT ehIUT
3 ? DO0@
1
Dy 2) 4
1 1
3)4><Z 4)474

S kg 467g + 10 kg 32¢g DO20®
5fR.467 70 + 10 TR.32T0 DOBOQ

1) 15kg 787¢ 2) 15kg 499¢

3) 16 kg 4) 15 kg 799¢
Find the area of a square tile of lenth
10cm? 0016
10 9 9] IrESGTA TRETH B9
SR fohelt T 2 D@
1) 100 cm 2)20 cm

3)40cm 4) 100 sq cm

Which of the following statement is true?

1) radius = diameter + 2 0016
2) diameter = radius x 2

3) diameter -+ radius =2

4) All statements are true.

WhoUeh! ShITT Tata RT3 2

1) B = = 22 DB
2) =M = B &2

3) =9 . B = 2

4) Td I SRIeR 37T

How many diagonals do a rectangle have?
12 )4 O00®
3)6 4) None of these
3mEame fohedt whut e/ 2 DRB@)
1)2 2)4

3)6 4) It .

Hirabai walked a around the rectangular
playground of length 60 m and breadth
50 m. How many meters did she walk?

0lOO]6)
1)110m 2)220 m
3)3000 m 4) 110sq m.




Q.10

Q.11

Q.11

Q.12

Q.12

Q.13
Q.13

Q.14

Q.14

Q.15

Q.15

60 |Ht Bisl @ 50 WL.EE @A
AR HaFTe e U Ut Wt
W ferdt i TR T DRG@
1) 110 7. 2) 220 H.

3) 3000 . 4) 110 =4,

1 m 10 cm cloth is required to stitch one
pant. How muh cloth is required to stitch

10 10 such pants ? 0016

1) 10 m 2) 1I0m20 cm

3) 11m10 cm 4) 11 m.

T Ue foamEe 1 W 10 9t Fug .

T 3N 10 U2 e frdt wus Sre?
O]OO0)

1) 10 . 2) 10 |.20 Tt

3) 11 |10 It 4) 11 1.

Convert into millilitres - 4 1 40ml
0]0OO0)

1) 440ml 2) 4040ml

3) 40040ml 4) 40ml

4 f&. 40 fireht Tevm foret forchindien?
OOR®®

1) 440 L. 2) 4040 foc.

3) 40040 . 4) 40 L.

Solve : 0.580.08 DOB®

g : 0.58x 0.08 D2BE

1) 0.0464 2) 0.464

3) 0.00464 4) 4.6400

Write the smallest prime number.
O]0OO0)

wai wEH geued wuw 2 DOR@

D1 2)2

3)3 4)5

Ritu gets up at 6:45 a.m. She has decided

to study at 8:15 a.m. After what time
would she start her studies? QR @
1) Thr 30 min 2) 2hrs 30 min

3)3 hrs 4) None of these.

fiq wenteht 6an. 45 ferieit Sae. fom wahTet
8 a1.15 forfteit sraraTen IaEe o™
S B, W A IS fohelt A ST

SH? 0000
1) 17130 . 2)27. 30 .

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

3) 3 . 4) IR T,

A bus starded from Nagpur at 19 : 20 and
reached pune next day at 2 : 40 p.m.How
much time did the journey take ?

DO0®
1) 19 hrs 20 min 2) 17 hrs 20 min
3)22 hrs 4)7 hrs 20 m.

AR 19:20 ITSIAT GERH! od gE=Al
faasht gurt 2 SN 40 e guare
rerel. TR VST TRt fehedt s BRI,

0[0O]6)
1) 19a.20 fA. 2) 177.20 fa.
3)22. 4) 7@.20 .

Which of the following is equivalent

16
fration of —

% DO
1 4 2 8
) 5 ) 10
64
3) 20 4) All are corrert.

16
TCAEA ! T ST - T WA

IR T 2 DRO®
4 8
1) 5 2) 10
64
3) 20
4) 4 9afg SRR 3.
How many elements do a triangle have ?
16 23 0O00®
3)9 4) None of these.
freRome Tt foRdt T 3rEEE?
16 23 0O00®
3)9 4) Tt .

Sharvari was absent from 10th August
2011 to 20th August 2011 due to viral fe-
ver. How many days was she present in
the office in the month of August ?

06O]6)

A STeage vEd 10 STwe 2011 @ 20
AR 2011 TR Bret. T AR Ul




Q.20

Q.21

Q.21

Q.22

Q.22

Q.23
Q.23

Q.24

Q.24

Q.25

Q.25

@ ferelt feam st 19t 2 DRB@

1)21 2) 20
3)10 4)22
1
1852 =2 ollolo
D9 2)6
1

18—
3)36 4) 5
In atriangle ABC, By which way can / A
be written ? 0016
1) ZBCA 2) ZCBA
3) ZABC 4) ZBAC
ek A1 BIRIUTAI® i 31 8 hIMUhR
fog vremet 2 DOB@
1) /SR 2) /hEA
4) , 3&h 4) /9E3Th

The cost of 15 bags is Rs.2130m How
many such bags can be bougth in Rs.

3000? 00O

15 fugrea=n %.2130 USdaE. @ o1 g9R

Ui 279N feRet forgtean EREt atan Adies?

1)21 2)18 OO®®

3) 10 4) 142

Find days of 2 years 11 days. DQ Q@

2 o 11 feaw rev foredt faem?

1) 741 )71 O@B®®@

3)211 4) 35

How many lines can be drawn through one

point ? 0016

1)1 2)5

3)2 4) Many

wh figg foredt Y s1de 2 0QO@

1)1 2)5

3)2 4) EEd

What fraction is 5 mm of 50 cm.
DOB®®

5 fa.eft.ar 50 |ft = forden fewm o ?

1 1
DT 2) 100 DQO®

Q.26

Q.26

Q.27

Q.27

Q.28

Q.29

Q.29

Q.30

Q.30

) 50 ) 50
15kg484g+4kgS16g=? DR
1) 19 kg 990g 2) 19 kg 990¢g
3)20 kg 4) None of these
15 feroat 484 3 + 4 oAt 516 37 = 2

0000
1) 19 fR.37.484 U 2) 19 f%.3.900 .
3) 20 BRI, 4) T T,
If a cycle is sold for Rs.2500 which was
bougth two years age for two and half
thousand which of the following is true?
0000
1) Profit of Rs.500 2) Loss 0f Rs.500
3) Loss 0of Rs.1000  4) No profit, no loss
T EIYE TE TR SO W
2500 TUIiE feeRtht TR EAIGUeh whivTd
farem we e ? DOB@
1) %.500 =TI 2) qRI %.500
3) %1000 eI 4) T T AR
12312304 s
10 100 QIO
1)35 2)35.4
3)34.36 4)35.44
Which of the following date is correct ?
0000
WUkl A TR v 2D Q)@)
1) 31-4-1990 2) 29-2-2100
3) 30-8-2000 4) 32-10-2010
The cost for 125 ml medicine bottle is
Rs.48. What will be the cost of 48 such
bottles ? 0016
1) Rs.2304 2) Rs.2404
3) Rs.2244 4) Rs.2344
125 Forcht 3fiwer e aEdE! fehrd

%.48 372, TR 31T 48 Feeie ferad feret

B3 ? OOB®@
1) 2304 %. 2) 2404 %.
3) 2244 %. 4)2344%.




Q.1

Q.1

Q.2

Q.2

Q.3

Q.3

Q4

Q4

QS5

Q.5

Q.6

Section III : Science (30 Questions, 60 Marks)

91181 111 : farsirer (30 w9, 60 3got)

WABUh SHIUT GE=1 TR a0 3718?
1) <1 shrevi 2) FREOOO®@
3) T3 4) Tere

Which of the folloing is a second order
lever? 0INO]0)
1) Abottle opener 2) Apair oftongs
3) Afishing rod 4) Anaxe

TR ------——-- < Sl Aeeh JTEaw?
1) i )8 D00
3) = 4) AT
Mosquito carries the parasites of :

1) cholera 2)TB OQ@03®®@
3) plague 4) malaria
————————— gerAidics RUTIHER TN
ATHEUT HiTEreh 316 ? 00010
1) amged 2) d%eq

3) =Y 4) s
Intermolecular force is maximum in the
case of : 0IN]O]0)
1) gases 2) vapours

3) solids 4) liquids
---------- 3 wlt e 3T 2 D@
1) Tges 2) ==l

3)® 4) sard

Which of these is a rabi crop? QR @
1) Rice 2) Maize

3) Wheat 4) Jowar
—————————— & TR 3 ? DQO@
1) 3Tl 2) e

3) forr® 4) firere

Which of these are herbivores?

1) Caterpillar 2)Eagle@Q@Q®@
3) Giraffe 4) Vulture
————————— HESCRLE I HNOINO]0)
1) TTecaTeRHTT 2) TR

3) &=l 4) fera st

Q.6

Q.7

Q.7

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Which of the following is not a form of

energy ? 0]0]O]0)
1) Gravity 2) light

3) sound 4) Electricity
WHGUE Tl FHH FHIATETS FHITE
SUERT B AT ? DORD
1) & 2) Qe R

3) W& 4) =e,

Which one of the following does not help
to reduce friction ? DOOB®

1) Grease 2) soapy water
3)oil 4) sand

———————— RS- - - - - - - -SigaHca
giferut=aye Tefed e 2(DRR)@)

3)h 4)s

Vitamin synthesized when the skin is ex-
posed to mild raysof sun? DQQR@

1) Vit A 2) Vit.B
3) Vit.C 4) Vit.D
————————— SN T 16 Sl
1) ® 2) TDORO@
3) e 4) S
The respiratory organs of fish are ?
0OO]6)
1) fins 2) scales
3) nostrils 4) gills
————————————— THHHER aredrd ?
1) 7 )F OQ0®@
3) W 4) 3Rt
----------- grow above the ground?
0006
1) Root system 2) seedling
3) Leaves 4) Shoot system
—————————————— % Tk ugtel yedichs
T L. 00016
1) =807 2) TR




Q.11

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

3) 4) THR

Earth pulls every object towards it with a

force called? 0016

1) Friction 2) gravity

3) tension 4) collision

T e () 3T ot g-———————- 2

TR 3T ? 00016

1) T oA 2) fag @3

3) Gt = 4) | T

Levers, inclined planes and pulleys are

called? 0016

1) compound machines

2) complex machines

3) easy machines

4) simple machines

———————————— TEUTS Shove e 7

1) #ET )7 D@

3) % 4) AR 1

A force experted is ? 0016

1) effort 2) loud

3) fulcrum 4) none of these

shiurara ugred - ----------—- = T

3T ? D@

1) &R 2) 3T

3) 4) BT

All materials are made of ? MDQQ®@

1) salts 2) acids

3) molecules 4) solutions

———————————— TMEed? DO0@)

1) TR 2) disameR

3) PSR 4) SRR

Rust forms on : DO

1) tin 2) Copper

3) Iron 4) Lead

———————————— STl U HUieR 2l ?
0OO]6)

1) 951 2) fozm

3) sTsdiser 4) w9aq

Water Vapour Changes to water on
DOO@

1) condensation 2) melting

Q.17

Q.17

Q.18

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

Q.22

3) evaporation 4) syblimation

———————————— g aR.? DOR@
1) & 2) FETESHSTIFIES
3) qmit 4) TER
Which of the following is an example of a
mixture? DO20®
1) Air 2) CO,
3)H,0 4) Sugar
——————————— REETE? D000
1) AfferasH 2) gt
3) TR 4) Hia
Which of the following is not a compound?
0OO]6)
1) Oxygen 2) Water
3) Sugar 4) Common salt
——————————— T gedten Jafies SuE mR?
0006
1) =g 2) etk
3) TRIvE 4) Ufeoft
Natural satelite of the earth is
0OO]6)
1) Moon 2) spunthik
3) Aryabhatta 4) Rohoni
——————————— e S U gia?
DOO@
1) I fohal ) 2) AR AR
3) SIS 4) Td 7 SRR

soil erosion can occur due to HQ B @

1) rains or floods

2) high velocity winds

3) deforestation

4) all the above.

—————————— = B T & ?
DOO@

1) 2)

3) 4)

The ---------- grows into the stem.
0O]O]6)

1) plumule 2) radicle

3) both(1) & (2) 4) none of them.

WY -~~~ =~~~ o= e




o =1 2aE? DOBR@ | Q26 Water drops freeze and fall as :
1) TREOR ot 2) et 1) ice 2)hail Q@
3) IR 4) T=H 3) both 4) none of these.
Q.22 The animals that give birth to young ones | Q-27 ——--=------ 2 Safiies i 327
are : 0000 0006
1) reptiles 2) Birds 1) S 2) fosairet
3) amphibians 4) mammals 3) SH 4) Siaxmest
Q.23 MU INA-—-———— -~ TS ITHAT? Q.27 A natural pesticide or biological pesticide
DOB® 1)DDT 2)neem(DQR@
1)202 2) 203 3) baygon spray 4) Napthalene
3) 205 4) 206 Q.28 -—--—------- T IS TR T ?
Q.23 There are --—------ bones in our body. 1) Wﬁgﬁfﬂ] ) TERDRR@
1)202 2)203 ®OB® 3) el 4) 91
3) 205 4) 206 ) ..
Q.28 Which of the following is not form of en-
Q.24 BE----——---- =t TS ST ? ergy? DR
00010 1) Gravity 2) light
1) @8 2) Wifeay 3) Sound 4) electricity
3) FeREm 4) TERTH 0N R — et T amEa?
Q.24 Bones are made of :- DOR@ DOOB®
1) iron 2) sodium 1) S 2) Fere qroft
3) calcium 4) potassium 3) I 4) 9%
Q.25 USHEEAd-————————- Thel T 3W@E? | Q.29  Which one of following does not help to
DOB® reduce friction ? D@
1) e 2) TiElem 1) Grease 2) soapy water
3) Fewsm 4) RIS, 3)0il 4) sand
Q.25 Digestive system has -—---——- muscles. | Q30 --—------—- T VeRTTreN J&d #d 3T,
OO 1) == )W D@
1) Voluntary 2) involuntary 3) @ 4) STl
3) cardiac 4) allof these. Q.30 The main source of light is the
Q.26 TBH® AT &el-—--------- =1 BU 1) Moon DOR@
TR TSard ? 00010 2) Stars
1) % 2) T 33 S.“rll N
ioluminiscent organism..
3) 2 8 R SN 4) T & 5 8
Section IV : Intelligence Test (20 Questions, 40 Marks)
181 1V : geferTar aravit (20 193, 40 3[1)
Q.1  Find the odd term. DOOB® 3) e 4) AR
2
g EZ%IG 4§ 1832 er(:)cz Q.2 If two squares of side 4cm each are
joined to gether, would be the difference
Q.1 fosiie we sfesE. O20® between their perimeter? D3 @
1) e 2) femof 1) 16 cm 2) 8&cm




Q.2

Q.3

Q.3

Q4

Q4

QS5

Q.5

Q.6

Q.6

Q.7

Q.7

3) 12cm 4) 10cm

4 TR A A T AN IR THAGT

S T3, T AR BT BT Seefteit

uRfteht @ &9 wiREsa aRfdiaed fend

W 3TEH? DOB@

1) 16 9t 2) 8 at

3) 12 Tt 4) 10 Tt

Which of the following city has humid cli-

mate? 006

1) Pune 2) Ahmadnagar

3) Mumbai 4) Sangali

W IcUGh! VT JTERTE G GHE 3TR?
0OO]6)

Hg 2) STEHETR

3) Hee 4) Qi

Which letter from the following will not
have same mirror image, as the alpha-

bet? DO
)H 2)N
3)0 4)1
TSI S0 ST TG SIS
T, GRS et STUR? D)@
)H 2)N
3)0 4)1
As sunlite is to plants, Similarly what is
to all living things? DODOB@
S S GATRTT ATavaeh R, dHe
e T - olelole
1) O, 2)H,
3) NO, 4) CO,
Count the number of circles in the given
figure. DRO®
0000
2)22
4)21

How many colours are present on our Na-

tional flag? DO
RATSAT SISITeR Tt fehelt 1 3Ma?

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

13 2)2
3)4 4)5

What would be your reaction if you are
invited for a party, where you do not know
any one? DO20®
1) I will ignore the invitation

2) I will not go for the party

3) I will go for the party, and talk to every-
one.

4) I will go for the party, and tall to everyone
how boring the party was.

TR Ueh! GURTS 3MH=0T 318, 1) qeedt
FTH 3BT e - D@
1) T N SAHAVIRS FHHTSIRT .

2) i SR

3) Ht GER SO S Tateht T sie.
4) 9l GURATS ST TR SN AT
TATF .

0[0O]6)

Which of the following is not used for writ-

ing? DOB®®

1) pencil 2) chalk

3) Ruler 4) Pen

WHTUeh ShIoT JEXIc 2l GHE MR ?
DOB®®

1) 2) R

3) 7 4) @it

Find the odd term. 0NO]0)

1) garland - flowers
3) Herd - animals

2) Trees - island
4) Schoal - fish.

farsie ug st 0000
1) ER - T 2) FE - =B

3) T3 - Jt 4) e - Ty
Find the odd term DO20®
1) liver 2) Heart

3) Brain 4) Eyes.

farsie ug st D@
1) apd 2)%

3)Hg 4) S

Which of the following can not be a square
number? 0016
1) 105 2) 625

3) 225 4) 1225




Q.12

Q.13

Q.13

Q.14
Q.14

Q.15

Q.15

Q.16

Q.16

2 OOB®@
1) 105 2) 625
3)225 4) 1225

If apples are called onions, Mangoes are
called potato, Chickoo is called Tomato
and Papaya is called Cucumber, then what
you will call a fruit which has only one

seed? 0016
1) Onion 2) Potato
3) Tomato 4) Cucumber

IR GHREES! Hhidl T8e, AT Feel

Tgee, foason el rged anfur uuden

FIHE! TEeD, W T Thd ot SO
HBH HE WS TES? DOR@
1) il 2) sIe

3) WA 4) Fhe!
If9:45Then 6 : ? D@
WY :45TW6: ? D@
1)36 2)30

3)42 4) 48

Which of the following is not a primary
colour? 00O
1) Red 2) Yellow

3) Green 4) Blue

TIeUeh! ShIUT T S 1 forest Shedt STl ?
1) o 2) D@
3) fezan 4) et

ACDEDFGZKLKMCMOPRS
T in the given series how many times we
see the same alphabet on both the side

of a alphabet? 00O
1) 3 times 2) 2 times
3) one time 4) None of there

ACDEDFGZKLKMCMOPRST
Tites Aifoscha TRt a1 Ueht &= 2FE!

TS A AR 3R? DRB@

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

Q.20

1) dede 2) T

3) Tl 4) ThTE .

How many of the following numbers are
divisible by 7 ? 00O
91,24, 28,98, 175,205, 603, 63, 126, 144
1)7 2)6

3)5 4)2

TSR fhRdt 3feRHT © = qul Wit S
91,24, 28,98, 175,205, 603, 63, 126, 144
7 26 OOB®
3)5 4)2

Rearrange the given letters to form a
meaningful word? 0016
r,ealp,y

I)a 2)r

3)1 4)y

WA 3R Tbad Teh 12yl 168 S
T, 3, T, W, |, T 1 ISR YA gE
T TRV 38R 3 ? DOB@
DKl 2)d

3)T 4)=a

Which of the following is not required by

the birds to buid thenest. DR @
1) cotton 2) bricks

3) dried leaves 4)wool

T ALUAHES! AT WSGUeh! ShIuTdt
] T D@
1) g™ 2) faan

3) A3 TH 4) B

Which of the following helps in conser-

vation of energy? DODOB@
1) Inverter 2) Oil lamps

3) Solar lamps 4) Street lights
Wrete w1 aReaes IS e
HT A5 DQR®
1) B 2) dom fa

3)ERr R4 4) T fesl




Answers / 3T :

Section I : Section III / 9T 111 :

L2293 D453 |22 |4 [3.]3)]4.|3)]5 |
6.3 |7.1D|8 D9 |2]|10|% 6. | D|7.[H |8 |HD|9|H]|10.|%
1. 3) [12.( 2) [13. 3) [14.| 2) [15.| 3) | | |11.| 2) |12.| 4) |13.| 1) | 14.]| 3) | 15.] 3)
16.| 4) [17.| 2) [18.] 3) [19.] 3) |20.| 4) 16.| D [17.| D |18.| 1) |19.] 1) | 20.| 4)
art I 21, 1) [22.]4) [23.] 4) |24.| 3) [25.| 2)
L4233 (2|4 |D]5]2)]]]26.2)27.]2) |28 1)]29.] 4) |30.| 3)
6. | D|[7.13)]83/[9.]2)]10.| D || SectionIV/9RIIV :

11.| 2) [12.] 4) [13.| 2) | 14.] 2) [15.] 3) L3223 ]3]4]D|5]D
16.| 1) |17.| 4 |18.| 2) |19.] 3) [20.| 1) 6. |4 |7.13]8]3]9.]3)]10.]2)
Section II / ST II : 1.4 |12.| D |13.] 2) [14.| 2) |15.| 3)
LiIdl2aldl3l2l4]3]s5 ] 16.| 1) |17.| 2) [18.| 3) | 19.] 2) [20.| 2)
6. 12| 7. D |8 |H|9.|D]10.]2)

11.| 4) |12.]2) |13.| 1) [14.| 2) |15.] 1)

16.| 1) [17.]4) [18.] 3) [19.] 2) |20.] 3)

21| 4) |22, 1) [23.| 1) [24. 4) |25.| 2)

26.| 3) |27.|4) [28.| 3) [29.]3) [30.| 1)




